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¢ Please check that this question paper contains 11 printed pages.

¢ (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

¢ Please check that this question paper contains 24 questions.

¢ Please write down the Serial Number of the question before
attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
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students will read the question paper only and will not write any answer on
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 - 4 and 13 — 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Question Nos. 5§ - 6 and 17 - 18 are short-answer questions carrying
38 marks each. Answers to them should normally not exceed 60 words
each.

Question Nos. 7-9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limiis
should be adhered to as far as possible.
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Qg A
SECTION A

SE 100 3HTS UG HH hl pol fER A T 30 71 3TN 3Ha qfitad] arTd

T 3%, d %o drd &l : (F8 forehe giw) 1
(%) T3

(@) < 30

() T 270

() <330

When the total fixed cost of producing 100 units is ¥ 30 and the average
variable cost T 3, total cost is : (Choose the correct alternative)

(a) T3
(b) Z 30
(e) T 270
(d) T 330

J9 3ftHd IA1G (AP) 3AfUehad Ba1 &, dd WA 3G (MP) : (W8 faepeq
gfu) 1

(%) 37Ed 3T % F9H BT &
(@) 3iigd 3dC & %4 gaT 2
(M)  3fEd IdTe | ik BaT 3

(&) S d A 13 o 8 gehar 2
3 PTO.
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When the Average Product (AP) is maximum, the Marginal Product
(MP) is : (Choose the correct alternative)

(a) Equal to AP
(b) Less than AP
(¢) More than AP

(d) Can be any one of the above

HhTIeHS (3Meeeh) ALATE i Th I T |

State one example of positive economics.

feor (fafvea) @ < ity &S |

Define fixed cost.

“Tereteh o T I heeld TEEIT GHTST |

AT
“fepmer feTu Icdteq foman Se”” 1 Sedig guET guesT |

Explain the central problem of “choice of technique”.

OR

Explain the central problem of “for whom to produce”.

Sl W H A A @ 2 qulaan S T 8 §6ehl gor T |

What is meant by inelastic demand ? Compare it with perfectly inelastic
demand.
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S U gEg H HMd T 4 WA IHE F FEH T 5 A 361 ANl B, AN IEbT
IR gfd 100 361§ & S@HT 120 3613 &1 ATt 8 | gfd I sh|a =

qfteher Ifre | o qfd dreer ® 2 FRw e |
When the price of a commodity changes from ¥ 4 per unit to ¥ 5 per

unit, its market supply rises from 100 units to 120 units. Calculate the
price elasticity of supply. Is supply elastic ? Give reason.

I=qH hiFq Hiar Fefor & @ iy @ 2 sees aftomy gmEmsT |

What is meant by price ceiling ? Explain its implications.

U a%] ! N TdT B T T IUNHT I 8 7T HOT fF I8 37 aEq HI
fopaft @ @iie 2 Twsmse |

YT

SATIH ok 1 8 2 SHHE ekl bl i fasraamd sarse |

Given the price of a good, how will a consumer decide as to how much
quantity to buy of that good ? Explain.

OR

What is Indifference Curve ? State three properties of indifference
curves.

wHTreRrd ferifiar i = fodvard s | s @ FR-A 9w @ gt
gfeanfirar @ g ot 8 o &=t 2

AT

frafafga & afomy aaemse

(%) o afaaifiran 4wt o g9 i TR I Bred I Tadad
(@) 3rearysr § R-Hma gfaiima
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12.

13.

14.
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State three characteristics of monopolistic competition. Which of the

characteristics separates it from perfect competition and why ?
OR
Explain the implications of the following :
(a) Freedom of entry and exit of firms under perfect competition

(b)  Non-price competition under oligopoly

SHTHM a3k fIeeTaor gRT SUMRET & Hqer i 3d TUsy | 6

Explain the conditions of consumer’s equilibrium using Indifference
Curve Analysis.

i ST (Trwifta) o Hiuia anTd h TRl | 3cTeeh b A i Wd
HHEATRY | 6

Explain the conditions of producer’s equilibrium in terms of marginal
revenue and marginal cost.

Qs g
SECTION B
TgT g st afeqmer i | 1
Define money supply.
freaferfad & & a1 Td 31T 1 e e @ 2 (w8 faehe gfio) 1
() g T Ha A
() frm =+
() i wEwEar
(") 3I9YE H ° BIE &
6
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Which of the following affects national income ? (Choose the correct
alternative)

(a)  Goods and Services tax
(b) Corporation tax

(e) Subsidies

(d) None of the above

9T I5h IGTH | F1 a1 IE adl 7 ? 1

Why does consumption curve not start from the origin ?

HoId S UHT SHleh 0T h! ITSeHdl I 1 Teha & : (T faehey giw) 1
(F) e (6 ©) TBE

(@) ufd grEde 2 (fed ) sert

(M)  wwRrd wfafeat dewt

() =Tl oot see

The central bank can increase availability of credit by : (Choose the
correct alternative)

(a) Raising repo rate

(b) Raising reverse repo rate

(c) Buying government securities

(d) Selling government securities

7 P.T.O.
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T 3™ 314 24 9L g9 aEdfder 3173 8 H1d  dhd & 2 999730 |

tera

frafafed 4 | SR sifid a5qd 2 st -5 qegad 2 wro dfm |
(%) =@ Td g gy i Tlig

(@) *% g =6 1 wiie

(M) ThA FeeM A faeneff g 9@ A wilig

Given nominal income, how can we find real income ? Explain.
OR

Which among the following are final goods and which are intermediate

goods ? Give reasons.
(a) Milk purchased by a tea stall
(b) Bus purchased by a school

(¢) Juice purchased by a student from the school canteen

oreh <t gftaTyT €I | Eiia Iuwh ygfa 3 ek <k o @ gey @ 2 9f
UTeh ST A 4 &1, 1 HIHTd IU9RT Y I ikt I |

Define multiplier. What is the relation between marginal propensity to
consume and multiplier ? Calculate the marginal propensity to consume

if the value of multiplier is 4.
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PEEhIfaeTd 3Tate & o1 YR 8 2 39 3T ol HH HH b dH 3TN
drgy, |

AT
Y () HIT F FAT Y 8 2 §9eh T Faigy |
What is meant by inflationary gap ? State three measures to reduce this
gap.

OR
What is meant by aggregate demand ? State its components.

=T 399 TG B Ged 0-6 7 3 Tefawen i IRfEE 3 T 100 F
2 | 3T, UM 3 F=q femnd g U arfersht qaw hifse | 3y wamm faw
T 80 KIS B, d 3T™ &1 Tge &R ot fe@msu |

The value of marginal propensity to consume is 0-6 and initial income in
the economy is ¥ 100 crores. Prepare a schedule showing Income,
Consumption and Saving. Also show the equilibrium level of income by

assuming autonomous investment of T 80 crores.

IR fiore e 1 “sifan sorgmar” & &9 § fies a9y |
Explain the role of the Reserve Bank of India as the “lender of last

resort”.

(%) fafma @ d gig & TP o™ W y9e JHese |
(@) YaH Tgad § T s LR FHes |

(a) Explain the impact of rise in exchange rate on national income.

(b) Explain the concept of ‘deficit’ in balance of payments.

9 P.T.O.
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Ufehed T () R i W e T 3ame, 991 (@) @med (3U1eH)

AT W Hehel Bie] 3cUTE

1)
(i1)
(iii)
(v)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

fertrn 3t s
TSl qdn I
srfaafa ey

fraet stucaE
arTiefer TETIar

g =

faeen 1 faet s 3ma
AT

1= ISl T ITH
ERISEIRANK It Skt N L]
fufsa s

(& #gl )
6,000
1,800

400
100
20
120
70

80

50
200
1,000

4+2=6

Calculate (a) Net National Product at market price, and (b) Gross

Domestic Produet at factor cost :

(1)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(%)
(xi)

Rent and interest

Wages and salaries

Undistributed profit

Net indirect taxes

Subsidies

Corporation tax

Net factor income to abroad

Dividends

Consumption of fixed capital

Social security contribution by employers

Mixed income

10

(¥ in crores)
6,000
1,800

400
100
20
120
70
80
50
200
1,000
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frferfiga & a1 T -
(h) USTEd T
(@) Ui =Tl
(M) wrafEes e
arera
Tt wore & fefofaa seva awesT
(%) GEIYAT 1 3ATEH
(W) ST FEAMAT HH Al
Explain the meaning of the following :
(a)  Revenue deficit
(b)  Fiscal deficit

(c) Primary deficit
OR

Explain the following objectives of government budget :

(a) Allocation of resources

(b) Reducing income inequalities

11
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